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B. Com. Vth Semegter Examination

APPLIED ECONQMICS GROUP
Group B : Marketing : Pjnciple of Marketing

Time 3 Hours] : [Max. Marks : Regular 85 / Private 100
[Min. Marks : Regular 28 / Private 33
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Section A, B and C are compulsory for all Regular and Private students. Please
follow the instructions, given in each gection. Marks distribution for all students
are as shown in question paper. The blind candidates will be given 60 minutes

extra time. hiip://www.davvonline.com

g N : wgfAs Section A : Objective Regular 15x1=15/Private 15x1=15
1. fmus ag AR .
(ar) T 9T (w) st oT () SIS 9T (=) T & Ry o ot €
Marketing expenditure ia a burden :
(a) On industry (b) On businessmen (¢) On consumers (d) None of them.
2, e F aw # - .
(31) Suvirestt H (&) aenfadr ® (@) Fwtarsit (z) &t =&t |
The advantage of marketing is to :
(a) Consumers (b) Businessmen (¢) Manufactures (d) To all,
3. fagor fpsor @ - '
(3r) wmdt - (=) v () ffess (z) g |
Marketing Mix remain :
(a) Static (b) Uncertain (c) Certain (d) Changing.
4. Wi TG T ST R e
(o1) SameT ® @) Fa ¥
(m) faqurr & @) s et 7 |
Consumer behaviour studies in :
(a) Part of human behaviour (b) Changeble
(c) Marketing (d) All of these.
5. ST aragT gar & - Attp://www.davvonline.com
(&) AP SrE A S () W
(@) - (z) svgw ofr |
Consumer behaviour is : '
(a) Part of human behaviour (b) Changeble
(c) Different (d) All of these.
6. = fawfEascor a7 anf ¥, AT 7y '
(a)mﬁwaﬂ&fmmﬂffm :(q}w-maﬁim
(¥) T ST ST R 9T At (z) AToT OF EL STHI 9T A |
Market segmentat'mn means division of market according to :
(a) San:ae sub-section of consumer " (b) Different areawise
(c) National and International basis " (d) Rural and Urban area.
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7. =3 v & Rgya ¥ :

(1) @ A (@) wrofa | (@) smds () T o |
The characteristics of a good brand are -
(a) Short name (b) Memorable (c) Attractive (d) All these.

8. ¥¥Rnr ¥ waK ¥« Types of packaging areé:

(a) 2 (b) 4 (c) 6 (d) 5.
9. QuTE S 9% &t Ewnd Edr 2 : The stages of product life-cycle are :

(a) 2 (b) 4 (c) 6 (d) 8.
10. gea Aify &t 2 -

(a7) ST F 0 A (&) T & ow &

() Swirgr ¥ aer A @) ¥ # |

Price policy is :
(a) In favour of the consumer
(¢) In producer manufacturer favour

11. feaor # a9 S e @

(b) In favour of the government
(d) In favour of all.

(37) @ T HE (@) o wTogEar (@) & & ogEa (=) dr T e |
..................... channel is the smallest distribution channel :
(a) Zero level (b) Single level (c) Double level (d) Three level.

12. 72 T T GEHT AT FT JETET 2

(ar) Rt 5K () sj@eT HUST (®) g =rd (z) Sugwr @ |

The example of large scale retail trade :

(a) Departmental store (b) Chain store (e) Super store (d) All of above.
13. fasmer %1 3g2vg & ¢ http//www.davvonline.com

(57) TmeY t SHT FAT S (w) wiE @ kT Fon

() g H Rcfra sreerdr 2 © (g) SudET @ |

Object of advertisement is :
(a) Attract the customer
(¢c) Giving financial information

14. ofaeA FrTe Y A F@ ® -
() Sere ¥ AT (w) Tt A Rl (%) S & |

(b) Motivate to workers
(d) All of above.

(3r) &

Factors affecting to transportation cost :

(a) Distance (b) Quality of product (c) Position of roads  (d) All of the above.
15.ﬁwaﬁ$$ﬂﬁnﬁmi%aﬁmm%: '

(37) et (7)) =i (ﬁ)nﬁﬁﬁﬁﬂﬂ' (z) Svgw fit & o |

The following is encouraged under sales promotion programme :

(a) Customers (b) Traders (c) Agents {d) Any of above.

gug ¥ : 99 Iada Section B : Short Answer Regular 5x4=20/Private 5x5=25

1. Rqurr Rregor & s gl |
Explain the meaning of Marketing Mix.
sgar OR

fyqurr & MY T GRS € 7
What do you understand by Marketing ?
9. Qe e & ¥ a1 fFAyand sa=g |
Explain any three characteristics of Consumer Behaviour.
3rgar OR

areE AR | & 7
What is Marketing Segmentation ?
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3. =mR {5 (32 o) 1 7 we R |
Explain the imoportance of Trade Mark.

. srqar OR
Jare e 9% & S FT GAES & 7
What do you understand by Product Life-Cycle ?

4 ot S ¥ Wew WE AT | http://www.davvonline.com
Explain importance of Wholesale Trader.
sgar OR

Sanrg dree FrafT & ST 1§ & ¢
What do you understand by Product Price Determination 7

5. fawa gfe & REm &7 7e e Fifom |
Explain the importance of advertisement in Sales Promotion.
sgar OR
Rrepg G & oy T gwEd € 7
What do you understand by Sales promotion ?

g | : 94 Iald Section C : Long Answer ' Regular 5x10=50/Private 5x12=60
1. R & 4% = 3vofF A | '

Describe scope of Marketing.
Jgar OR
Wﬁwm%?ﬁmﬁwﬁmmﬁwﬁﬂmﬁm |
What is Marketing Mix ? Describe the factors affecting Marketing Mix.
9. ITHIT IR ¥ &7 Td wew & guEay |
Explain the scope and importance of C_unsums_;r Behaviour.
sar OR
Wﬁﬁﬁwmma@w%?wﬁaﬁﬁmm%MRﬁmﬁ#ﬁq |
What is objective of Market Segmentation ? Write a note on bases of Market Segmentation.
3 e R R ? GAST ¥ HEl 1 U HIC |
What is Packaging ? Describe its functions.
agar OR

wF AU IR F1 T FA A afnar Rl |
Explain the process of developing of New Product.

4, Wﬁﬂﬁwﬁw%#ﬁﬂﬁﬁﬂﬂﬁﬁq |
Discuss the role of costs in pricing decisions.
sar OR
i =mqrd # ST BT AT T FHg |
Critically examine role of Wholesaler.

5. fasmee ¥ fafter srend Y gwmmse | http//’www.davvonline.com
Explain various advertising media.
argar OR
oF % [@skar & it 7 avfa Fif | |
Describe qualities of a Successful Salesman.
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4. 2 el ¥ fwr @ @ 1 B B} - The following are the sales and cost of two months :
e (Month) fawa (Sales) g @ (Total Cost)
sl (April) 4,80,000 4,08,000
m (May) 3,84,000 3,36,000

N : Findout:  http://www.davvonline.com
(31) &t e s (Profit Volume Ratio)
(w) ses e # qftadAeie @ (Variable Cost of each months)
(7) & T @ (Total Fixed Cost)
() P sea 9T 10% a7 9 & ¥ R Ry 2 ol | ‘

(Amount of sales if 10% profit on selling price is required)

stgar OR

T TR O T Wt o Rl @ | e g ¥ @S X O Y 9wt ¥ | s
JATEA SAT 20,000 T ¥ qur R T A 20 oud wfy g A GTE A9 oA @ | I R '

i i chine
A company is considering to buy a machine. Two models X and Y are ava:la't:_'ze 'III;: Lnil;ti:- dE:tﬁ 1;11:1_8 i
can produce 20,000 units which are sold in the market at Rs. 20 per unit.

under :

X Y
fRrc armr (Fixed Cost) 60,000 32,000
A (Profit) 60,000 48,000
e T FEATR

(31) el 1 o frds g (¥l o W &)

(7) famra &1 aw @ et A WY W W & A o |

You are required to :

(a) Calculate B. E. P. (in units and rupees) for each machine.

(b) The level of sales at which both the machines are equally profitable.
wmﬁﬁ,uoomﬁ%mm%mmmﬁwmﬁmm%:

The expenses budget for normal production of 6,000 WRits in a factory is furnished below :

aoft (Material) http://www.davvonline.com Per Unit ?ﬂ'
=9 (Labour) . . 30
wRafaviter Frcarr suftay (Variable Factory Overheads) 8
I @rearr SURa (Fixed Factory Overhead) 10
Ay =1 (Direct Expenses) 6
Rt =g 20% AT (Selling Expenses 20% Fixed) 15°
Reror =z 25% fR (Distribution Expenses 25% Fixed) 8
marafA® =w, fX (Administrative Expenses Fixed) 5
(37) 4,000 gwrédY T () 5,000 TFTEAT F Rrw aore S T |
Prepare a budget for production of (a) 4,000 units and (b) 5,000 units,

' 3war OR

s ¥ 7 sfie Sur Wy o e 23 dv i a9 |
What is Report ? Explain the matters to be kept in mind while preparing a Teport.
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